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CHH M A (Gradual Contraction)

¢

M e=wsin



="T 1
Ml 1)
\/
= \/
15Qm 1000m —
V; =6 mls
— 20cm 60cm

Uy st=2thestm




A
=

P>

D=32m

L =1200 m

Q =18 m3/sec
f, = 0.11

A=
TT

A 2)

-

114

hi, he, hyp, hy S FOIAL

Uy sr=metm






N
°
|—1<
2 |T
°
l—r>t+—r [>'<¢
>
n
n

2 2 2
v=feY +feV +fOV
D 29 29

#3(D)°l FOIXIT $4(V)2H

(0]
T
— (T B W2 4 %)

known :D —V = ZgHL
15+f—
D
2
—)Q =V-A = TCD ng

QN Sr=20ietn



A1) F5(V)H

(o)
L

D=1m Vv,

M e=wsin

— 200m —*

F(Q)= oA



02 =2 9y

UM 2) (D)2 FOHAIL

| = 4250m

Q = 2804/sec
FEZ =0.02

M e=wsin



CHY H4 20 offy

(* A} E(Siphon)

Uy st=2thestm






- __htl
/\
—> ?
Q —> \/
A —~ B
3
Q=0Q,+Q2+Q3
h = h1+h2+h3

Uy st=2thestm



.|<]

=300
L=

m

=730

L2—

m
Om
D,=25

mm

=200

D2—

—_ '—Im
M



2 (Pipe network)
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¥ (Pipe network)
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¥ (Pipe network)
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